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7. DKCIVIMKALIMA K MO3TAZKHOMY IJIAHY 30AHHSA
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HREE : g = 2| 2| & 3
= o ] Z = P ) =
Z = S s = = g
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11213] 4 5 6 7 8 9 10 11 12
) 4,36%2,75+4,15%6,25- -
A 1 | JlecrHMuHas KIeTKa 0.73%0.84+0,15%0,62 374 | 374 37.4 2,40
CayxebHoe 4,19*5.38+3,94*%3 63-
2 . ’ g i ’ 5 36,5 36,5
IoMeIeH1e 0,37*0,84 36,5 s ’
=
g 22,57%5,84-3,49%4,92
S 0,88%(.87-0,80*0,86-
il 3 Kopuop 1,26*0,92*2- 109,7 | 109,7 109,7
1,26%0,73*%2+0,33*1,8
9
4 Kopujiop 2.60%33,11-0,11*%0,39 ] 86,0 86.0 86,0
5 Pasnepanka 10,86*%4 44 48,2 | 48,2 48,2
6 s 2,41*4.46 10,7 | 107 10,7
HOMEIIEHHE
Cnayxeb
7  — 6,27%4.48 281 | 2811 281
HOMEIICHHE
8 | JlecrHM4Has KIeTKa 3,13%6,60 20,7 | 20,7 20,7
9 Kopupop 2.23*10,06 224 | 224 22,4
10 Cinyaetios 1,59%3.42 54 | 54 5.4
MoMEIeHHe
nyxed
1 -=hEEASRe 1,61%3,03 49 | 49 4.9
noMeIneHne
rs—-
12 o oo 1,61%3,30 53 | 52 5.3
HOMEIIeHHE
13 Tennooit vien 2,90%3,02 8.8 8.8 8.8
14 | CrooprupHbIii 3a:1 14,90*31 .98 4765 476,5 | 476.,5
Cnyxeb
15 R 8,65*3,07 26,6 | 266 26,6
HOMENICHHE
16 | JlecrHH4yHAasd KIeTKa 2 22%5 26 16,9 | 16,9 16,9
17 Pasnepanka 2,38*1,81-0,10*%0,72 4.2 4,2 4.2
18 PaspeBanka 2,37*1,86-0,10%0,74 | 4.3 43 4.3
19 | CnopruBHBI 3a1 8.06%4 85 39,1 39,1 39.1
20 PaszneBanka 5,38%4.74 255 1 255 255
3.30*1,88-
21 Pasyepanka 0.94%0.13%2 6.0 6,0 6,0
| TR 5,34%2.86 153 | 153 | 153
KaOHHeT
23 JlaGopanTckas 1,88*%] .85 3.5 35 oy
24|  CrymeGioe 5,33*2,85 152 | 152 152
noMeIeH1e
25 Kopujop 1,44*1,58 2.3 23 2.3
26 Civiacios 3,86*2,13-067*045 | 7.9 | 7.9 7,9
HoMeInieHue
27 s s 3,56*5,51-0,63*3,57 | 174 | 174 174
[OMeIIeHHEe
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